1.7 Solving Quadratic Equations Using CTS
1.8 Quadratic Formula
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Solving Quadratics By CTS

*Use CTS to solve a quadratic equation when...
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ex: Solve.

a) x*-4x-10=0
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Solving Quadratics Using the Quadratic Formula

Let a,b,c € R such that g = () . The solutions of the
quadratic equatio ax’ +bx+c =0 arg:

-b2Vb=4ac

Quadratic Formula: x =
Ll

*Use the Quadratic Formula to solve a quadratic equation
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ex: Solve.
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Picking A Method

look for square method

look for 'factorable

CTS or quadratic formula



ex: Determine which method is best to solve each quadratic
equation. Do not repeat a method. DO NOT SOLVE.

3)

1. X*+6x—-3m=0 C]/§

2. x> +6x+5=0 gfad—pr
3.2(x+1)"=4=0 gﬂ» oot
4 X +2x+5=0 C(Uﬁd form



b)

32x° =8x+5=0
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The Discriminant:

» In the quadratic formula, the expression
2
b= 44 is called the discriminant.

e The discriminant is used to determine the

Fups of spllions dprthe qadeehc




Using The Discriminant:
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Graph of

y=ax' +bx+c




ex: Find the discriminant and give the number and type of

solutions of the equation.
g

Dl -8x+13=—4 )= p~ 0’

N )
><~le R = (5)-4(N(1)
pe—3 = (68

C =17 D:#%ég

Q Tul) 60\%{0{6



b) x* -8x+16=0
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ex: Thegraphof y= ax’ + bx + ¢ r the solutions of

ax>+bx+c =0 are given. Determine if the discriminant
|5 positive, negative, or zero. Explain your reasoning.
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ex: Consider the quadratic equation: 32 +12x+c=0
Find all values of ¢ for which the equation has...

a) two real solutions
D>
h=4ac = (O
J#—2c = O
Sl m =l
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b) one real solution
b~ Yac = O
4y —1ac = O
C= 1%



¢) two imaginary solutions
b —dac < &
C > 1k



Review

ex: y= —(x—3)(x+l)

a) Sketch.

b) State the domain and range in interval notation.

<) What is the maximum or minimum value?



Review

ex: Which number sets does the number belong to?

B



Review

ex: Solve.

0x*=12x=0



Challenge! )

ex: Solve ax” +bx+c =0 by completing the square.



